
www.vtcproaudio.com

1

2
Figure 1

Figure 2

3/8-inch Lock Washer

Rigging Plate3/8-inch Flat Washer

3/8-inch High Strength Bolt

Manual-Owners-EL210i-RIGGING-PLATE-PG01-00-1v0-eng

2. Continue to assemble the array as 
shown in Figure 2. Set the angle using the 
labelled positioning holes on the brackets.

“Ease Focus” data is available at
www.vtcproaudio.com/downloads

550 Granite Court • Pickering, Ontario • L1W-3Y8 CANADA

Canada
Voice: (905) 837-8481

Fax: (905) 837-8746

4625 Witmer Industrial Estate • Niagara Falls, New York • 14305 USA

U.S.A.
Voice: (716) 297-2920

Fax: (716) 297-3689

EL210i Rigging Plate Installation

Page 1

Printed in Canada

1. First, attach the Rigging plates on both sides of each 
cabinet as shown in Figure 1. 

HARDWARE TO HOLD A
MAXIMUM OF 4 CABINETS!

USE ONLY SUPPLIED
HARDWARE



www.vtcproaudio.com

3

Figure 3

4

Manual-Owners-EL210i-RIGGING-PLATE-PG02-00-1v0-eng

4. The assembled array. Adjustments to the overall 
array angle can be made by choosing the appropri-
ate hole running along the top of the Rigging Plate.

3. Finally, attach the rigging brackets  
that will be used to fly the array to the 
cabinet as shown in Figure 3.

550 Granite Court • Pickering, Ontario • L1W-3Y8 CANADA

Canada
Voice: (905) 837-8481

Fax: (905) 837-8746

4625 Witmer Industrial Estate • Niagara Falls, New York • 14305 USA

U.S.A.
Voice: (716) 297-2920

Fax: (716) 297-3689

EL210i Rigging Plate Installation

Page 2

Printed in Canada

Package Contents
• Left & Right Rigging Plates
• 4 Bolts (YS#8975)
• 4 Flat Washers (YS#8818)
• 4 Lock Washers (YS#8996)

Required Tool
• 7/32-inch Allen Wrench

Note:  When flying the array, the  
crossover input plate will be 
upside down.

Note:  For flying the array it is suggested 
to use 1/2-inch shackle hardware (e.g. 
Crosby part # 1018455).

HARDWARE TO HOLD A
MAXIMUM OF 4 CABINETS!



www.vtcproaudio.com

1

2
Figure 1

Figure 2

Rondelle bloquante 3/8 de pouce

Rigging PlateRondelle Plate 3/8 de pouce

Boulon de Haute
Résistance 3/8 de pouce

Manual-Owners-EL210i-RIGGING-PLATE-PG01-00-1v0-eng

2. Continuez d’assembler la disposition 
telle qu’indiquée à la Figure 2. Réglez 
l’angle en utilisant les trous de position-
nement identifiés sur la plaque.

Les données “Ease Focus” sont disponibles
au www.vtcproaudio.com/downloads

550 Granite Court • Pickering, Ontario • L1W-3Y8 CANADA

Canada
Voice: (905) 837-8481

Fax: (905) 837-8746

4625 Witmer Industrial Estate • Niagara Falls, New York • 14305 USA

U.S.A.
Voice: (716) 297-2920

Fax: (716) 297-3689

Plaque de Quincaillerie EL210i pour Suspension 

Page 3

Printed in Canada

1. Première étape, attachez les plaques de quincaillerie de suspen-
sion à chaque côté de l’enceinte tel qu’illustré à la Figure 1.

QUINCAILLERIE CONCUE 
POUR SOUTENIR UNMAXI-

MUM DE 4 ENCEINTES!

UTILISEZ SEULEMENT 
LE MATÉRIEL FOURNI!



www.vtcproaudio.com

3

Figure 3

4

Manual-Owners-EL210i-RIGGING-PLATE-PG02-00-1v0-eng

4. La disposition d’enceinte assemblée. Les ajuste-
ments d’angle global de l’ensemble peuvent être 
faits en choisissant le trou approprié au long de la 
partie supérieure de la plaque de quincaillerie.

3. Finalement, attachez les plaques de 
quincaillerie qui seront utilisées pour 
suspendre l’ensemble à l’enceinte selon 
les indications de la Figure 3.

550 Granite Court • Pickering, Ontario • L1W-3Y8 CANADA

Canada
Voice: (905) 837-8481

Fax: (905) 837-8746

4625 Witmer Industrial Estate • Niagara Falls, New York • 14305 USA

U.S.A.
Voice: (716) 297-2920

Fax: (716) 297-3689

Plaque de Quincaillerie EL210i pour Suspension 

Page 4

Printed in Canada

Contenu de Paquet
• Plaque de quincaillerie de Droite  
 et de Gauche
• 4 Boulons  (YS#8975)
• 4 Rondelles Plates  (YS#8818)
• 4 Rondelles bloquantes   
 (YS#8996)

Outil Requis
• Clé à six pans creux (Allen   
 Wrench) de 7/32 de pouce

Note: Quand vous suspendez 
l’ensemble de haut-parleur, la 
plaque d’entrée de filtre de 
coupure sera à l’envers.

Note: Pour suspendre l’ensemble il est 
suggéré d’utiliser les quincailleries shackle 
1/2-pouce (ex. Pièce Crosby # 1018455).

QUINCAILLERIE CONCUE 
POUR SOUTENIR UNMAXI-

MUM DE 4 ENCEINTES!


